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SECTION - A
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i) General Awareness

The Battle of Waterloo was fought in
which country?
(A) France
(C) Belgium

(B) Germany

(D) Britain

Halophytes are

(A) Plants adopted to growing in saline
conditions

(B) Plants adopted to growing in high
temperature conditions

(C) Plants adopted to growing in less
water conditions

(D) None of the above

Which noted journalist has won the
first Gauri Lankesh Memorial Award for
Journalism ?

(A) Arnab Goswami

(B) Barkha Dutt

(C) Ravish Kumar

(D) Rajdeep Sardesai

Consider the following statements about
Samudrayaan project.

1. The ‘Samudrayaan’ project
undertaken by the NIOT, Chennai,
is in line with the ISRO’s ambitious
‘Gaganyaan’ mission of sending an
astronaut to space by 2022.

2. The ‘Samudrayaan’ is a part of the
Ministry of Earth Sciences’ pilot
project for deep ocean mining for
rare minerals.

Choose the right option :

(A) Only the statement 1 is true

(B) Only the statement 2 is true

(C) Both statements 1 and 2 are true
(D) None of the above

5.

Who among the following personalities
given below also often known as Father
of Bangladesh ?

(A) Sheikh Mujibur Rahman
(B) Muhammad Mansur Ali
(C) Sheikh Hasina

(D) None of the above

Who has been honoured with the 2019
Right Livelihood Award ?

(A) Greta Thunberg
(B) Christine Lagarde
(C) John Paul Jose
(D) Ridhima Pandey

World Water Day is celebrated every
year on

(A) March 21st

(B) March 22nd

(C) March 3

(D) None of the above

Which of the following Act provides
Protection of Wild Animals, Birds and
Plants ?

(A) National Green Tribunal Act
(B) Wildlife Protection Act, 1972

(C) National Environment Appellate
Authority Act

(D) None of the above

Who bagged the best actor award in
Film Fare Awards 2019 ?

(A) Ranbir Kapoor
(B) Vicky Kaushal

(C) Gajraj Rao

(D) None of the above
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What is the capital of Kenya ?
(A) Kampala

(B) Nairobi

(C) Addis Ababa

(D) None of the above

In which of the following place Haldia
port is situated ?

(A) Goa

(B) Guijarat

(C) West Bengal

(D) None of the above

Which of the following State has got Gl
tag for its famous Kani shawls ?

(A) Odisha

(B) Rajasthan

(C) Madhya Pradesh
(D) None of the above

The book “Jyotipunj” is written by
(A) Narendra Modi

(B) H.D. Deve Gowda

(C) Manmohan Singh

(D) None of the above

In which of the following city, country’s
first greenfield Industrial Smart City
was inaugurated by the Prime Minister
recently ?

(A) Mangaluru
(B) Aurangabad
(C) Chennai _
(D) None of the above

Singalila National Park is situated in
which of the following State ?

(A) Karnataka

(B) Tamil Nadu

(C) West Bengal

(D) None of the above

16.

17,

18.

19.

20.
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Mount Pinatubo (Volcano mountain) is
located in which of the following country ?
(A) Japan

(B) Philippines

(C) China

(D) None of the above

Who is the present Governor of
Himachal Pradesh ?

(A) Kalraj Mishra

(B) Bandaru Dattatreya

(C) Acharya Devvrat

(D) None of the above

Lakshadweep Coral Islands situated
in

(A) Indian Ocean
(B) Pacific Ocean
(C) Bay of Bengal
(D) None of the above

Which of the following Committee setup
by Central Government advised to stop
setting up new colleges from 2020 and
review the creation of new capacity
every two years after that ?

(A) Nandan Nilekani Committee

(B) Narayan Murthy Committee
(C) B.V.R. Mohan Reddy Committee
(D) None of the above

In India Ease of Living Index is released
by

(A)
(B)

Ministry of Home Affairs

Ministry of Housing and Urban
Affairs

Ministry of Rural Development
None of the above

(C)
(D)
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I ® Vel gHaT gl ERY
ST feram )
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(C) mHivr forehre Wt

(D) I | ¥ IS &
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ii) General Intelligence and Reasoning Ability

Four Men A, B, C and D and four
women W, X, Y and Z are sitting round
a table facing each other. No two men
or women are sitting together. W is to
the right of B. Y is facing X and is to the
left of A. C is to the right of Z. Who are
the two persons sitting adjacentto D ?

(A) WandY (B) Xand W
(C) Xand Z (D) WandZ

How many 3's are immediately preceded
by 9 but not immediately followed by 5
in the following number series ?

934593593643933539539
375759395
(A) 4
(C) 5

(B) 3
(D) 2

Select the correct alternative. If more
than five letters are missing then select
the last five letters of the series.

abc  ea dd

___bece

(A) bbbbb
(B) abbbb
(C) dcbbb
(D) none

Find the odd man out.
(A) January

(B) April

(C) July

(D) October

29

26.

27.

Which one number can be placed at the
sign of ?

) @ @ (9 6 (9
© &) ©

(A) 5
(B) 6
(C) 8
(D) 9

After the series, below it in the next line,
a number is given followed by (A), (B),
(C), (D) and (E). Complete the series
starting with the number given.

11 15 38 126

7 (A B (€ DO (E)
Which number will come in place of (C) ?
(A) 102

(B) 30

(C) 2140

(D) 80

In a certain language MADRAS is coded
as NBESBT, how BOMBAY is coded in
that language ?

(A) CPNCBX
(B) CPNCBZ
(C) CPDCBZ
(D) CQOCBZ
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ii) AT Figww qoT arfthes TEat

=R I&9 A, B, C 3 D 3t 9 Afgwnd
W, X, Y 3R Z T B9 & =1 3 T
TEL I IR e HF A3 T | FE QA W A
21 wiged weh |y 78 43 | W, B R
Y gE X H AT INITAFENL | C, Z
FAME | D h AE o3 & Al v & 7

(A) WaRY (B) X3 W

(C) X3z (D) W3R Z

frafefaa g@en # forad 3 @ 8
SF UEA 9 B, WY S g 5T R 7

934593593643933539539
375759395

(A) 4
(C) 5

(B) 3
(D) 2

Tdl faeren 9w | afs ufe @ Samer 1em
T & A1 @ & 3ifqw v 37er g |

abc __ea = dd bcec

(A) bbbbb

(B) abbbb

(C) dcbbb

(D) I3 &
wdor firm sty |
(A) SFE

(B) 31

(C) =g

(D) I

25. 7 % Tored W -4t T W <71 gehdl & 7
() @) (9 () ) (9
(63) (37) (42)
©, (@) &)
(A) 5
(B) 6
(C) 8
(D) 9
26. F@S % A1E, 39F A9 el Ufedd 7 vF

20

& g8 TE& & 11 (A), (B), (C), (D) 3R
(E) 3111 @ | 31 g3 W1 ¥ IR &H aTel
@ % qof & |

11 15 38 126

7 (A) (B (©) (DO ()
HH-H FEAT (C) & TAH T T 7
(A) 102

(B) 30

(C) 2140

(D) 80

TS TS §# MADRAS %! NBESBT fer@t
SITAT &, 361 e 9T § BOMBAY &l &9
foran smom 7

(A) CPNCBX

(B) CPNCBZ

(C) CPDCBZ

(D) CQOCBZ
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28.

29.

30.

How many pairs of letters are there in
the word ‘CONTEMPORARY’ which
have as many letters between them in
the word as in the alphabets ?

(A) 0

(B) 4

(C) 3

(D) More than 4

In a family of eight members, there are
two married couples and a widow. A, the
engineer, is married to a doctor. C, an
architect is the wife of D, E, a student
is the only child of C. G is the son of
H whose sister F, F is the niece of the
manager. B, a teacher, is the mother of
only A and D.

Who is the manager ?
A) E
) D
) H
D) A

)

(
(
(
(

In an examination, 42% students failed
in Hindi and 52% failed in English. If
17% failed in both the subjects, the
percentage of those who passed in both
the subjects is

(A) 23%
(B) 27%
(C) 34%
(D) 40%

31.

32.

33.

MRKG-AXVIVTECRHCIWGE/T1/Ub

When the time is 10:30, if the minute

hand points towards south, the hour
hand will point towards

(A) North-East
(B) North-West
(C) South-East
(D) South-West

IfP @ Qmeans P >Q
P+Qmeans P>Q
P=Qmeans P=Q
PQmeans P <Q
P+Qmeans P<Q

Statement : K@ C,NT, T=C

Conclusions : ) N C

hKeaeT

Then,

(A) Only conclusion | follows

(B) Only conclusion I follows

(C) Conclusions | and Il both follows

(D) Either | or Il follows

In a row of girls, Chetna is 7" from the
right and Neelam is 15! from the left. If
both of them exchange their positions,
then Chetna becomes 20" from the
right. How many girls are there in the
row ?

(A) 26

(B) 21

(C) 35

(D) 34
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28.

29.

30.

715 ‘CONTEMPORARY' ¥ 311l & Td
fore gm 2 ek offg o 3 & sram &
ST aofaren # 8 7

(A) 0

(B) 4

(C) 8

(D) 43 fw

U 313 Hewi o iar | <) faanfed gt
3R s fauar 2 | A, ST 3SR R, 39e
foame v fafehcas @ gan € | D 1 ueh
C U aiEg&HR ® | E, C 1 Ioheitel sree
s Tt 2 | G, H =1 31 @ foreh 57 2,
F Saereh 3t sicfistt 2 | B ek fiers @ aiR
FIA AR DA A@I R | THUFH HAR ?

(A) E
(B) D
(C) H
(D) A

T Tted H, 429 feremeff fedt § srgefiol 5o
A 52% S § 7l g | afe 179%
<M1 H Sl gu, @ A fawei @ Sl
& At ferenfefart = wfeera 2

(A) 23%

(B) 27%

(C) 34%

(D) 40%

31.

32.

33.
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e EHY 10:30 7, A4 e ot g afeqor it
AR 2 A= s I ST |

(A) ST-g&
(B) 3IW-qfvam
(C) afeavr-ga
(D) afegor ufvem

FdP@Qm AL P>Q
P+Q&FIIEP>Q
P=Q®adP=Q
PQ®31d P <Q
P+Q&FAFP<Q

HFAT:K@C,NT, T=C

ferd )N C

hKeT

(A) e fosd | STgeor T R |

(B) Hae feh 1 SFTET0T L € |

(C) Faa Feerd | 3T 1| T S1Taon St
2|

(D) a1 AT || STTETT HAT R |

TSfRAl it ek ufe ), Sqr e g 7 A § |
3R Hfiem w1d | 15 ff 8 | afe S s
T ATTE § 5 oAl & o =a1 2¢ g
20 o1 81 SITcft § | uferr o et febart erefemat
g7

(A) 26

(B) 21

(C) 35

(D) 34
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34.

35.

36.

37.
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Which of the following words will come
at second position if all the words are
arranged alphabetically ?

(B) Prohibition
(D) Protracted

(A) Prominent

(C) Programme

If the given interchanges are made in
signs and numbers, which one of the
four equations would be correct ?
Given interchanges : Signs ‘+' and —;
numbers 5 and 8.

(A) 82—-35+55=2
(B) 82-35+55=102
(C) 85—-38+85=132
(D) 52-35+55=72

In a leap year, which month will have
the same calendar as that of January
in that year ?

(A) April
(B) July
(C) October
(D) March

Find the missing number in the
following.

6 8 ?

9 3 13

10 | 14 1
(A) 11 (B) 9
() 7 (D) 5

38.

39.

40.
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Among A, B, C and D, B is heavier than
A and C but C is taller than him. D is
not as tall as C, while A is the shortest.
C is not as heavy as A. D is heavier
than B but shorter than him. Who is the

heaviest ?
(A) B
(B) A
(C) D
(D) C

Find the odd man out of the series

5,10, 17, 25.
(A) 5
(B) 10
(C) 17
(D) 25

The sum of ages of a father and son is
45 years. Five years ago the product
of their ages was 4 times the father's
age at that time. The present age of the

father and son respectively are
(A) 25 years, 10 years

(B) 36 years, 9 years

(C) 39 years, 6 years

(D) none of these



2L

34.

35.

36.

37.

ShE

=

FUTHTEAT % STTER A Ed T G -1
155 TEX T T 3T ?
(A) Prominent (B) Prohibition

(C) Programme (D) Protracted

e feu ot feesi o deet o
R fau S a1 =R ol 3 8@ -
forere wdt g ?

fow mu fafm ; fogm v ot —;
&A1 5 3R 8.

(A) 82-35+55=2

(B) 82-35+55=102

(C) 85—-38+85=132

(D) 52-35+55=72

U A9 I8 1, 39 a9 il SHad ST Fhetet
fore 518 w1 8 ?

(A) T
(B) I8
(C) AFH
(D) ==
fefofaa 3 @ e e 3 |
6 8 ?
9 3 | 13
10 | 14 1
(A) 11 (B) 9
C) 7 (D) 5

38.

39.

40.
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A,B,C3RDH, B, C3INAT YT
qig C 368 &a1 & | D, C o wen e 2
SEfer A el BT R | C, A e vt &
21D, B Rl uig 369 BIeT ], T8 9Tt
FAE?

(A) B

(B) A

(C) D

(D) C

SEen ¥ @ wden fim sifeu |
5,10, 17, 25.

(A) 5

(B) 10

(C) 17

(D) 25

T TR g3 it ST FT AT 4599 § | U
¥ qd 3I7h! AT 1 PHGA 36 THY foa
1 A H1 470N | T 7R g7 R FdHE
Y AT §

(A) 2579, 10 a4

(B) 3679, 99

(C) 394, 6ay

(D) 3 & =3 e
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iii) Arithmetical and Numerical Ability

41. Simple interest on Rs. 2,000 for| 45. Iftand + secd = a and secH —tand =b
5 months at 16% per annum is then the relationship between a and b

IS
A) Rs. 133.
EB; RS 12222 ®) 5= (B) ab=1
S, <
(C) Rs. 134.00 (C) a?+b2=1 (D) a®-b2=1

(D) Rs. 132.09 46. Ifthe second term of an AP is 4 and 10t

term is 20, then the 15" term is
42. The value of (A) 28

x_a_ a+b ﬁ b+c ic_ c+a i (B) 32
x° x°© x2 (C) 30
(

D) none of these

(A) O

(B) 1 . 47. The area of a triangle whose sides
(C) abc measure 14 cm, 48 cm and 50 cm is
(D) a2b2c? (A) 672 cm? (B) 336 cm?

(C) 350 cm? (D) 700 cm?
43. Thrice a number is 24 more than one-

third of it. The number s 48. If the point (k, 3) is at a distance of V5
units from the point (2, k). The value of

(A) 8 k is

(B) 9 (A) 1

€) 12 (B) 4

(D) 15 (C) 1and4

(D) none of these
44. A bag contains Rs. 187 in the form of

1 rupee, 50 paise and 10 paise coins in 49, Amansells6 radlos‘and 4te|ewspn§ for
Rs. 18,480. If 14 radios and 2 televisions
are sold for the same amount, the price
of a television is

the ratio 3 : 4 : 5. The number of coins
of each type are respectively

(A) 102, 136, 170 (A) Rs. 1,848
(B) 136, 102, 170 (B) Rs. 840

(C) 170, 102, 136 (C) Rs. 1,680
(D) none of these (D) Rs. 3,360

-12-



b

41.

42.

43.

44,
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iii) TRV UE HEaTeHE It

%. 2,000 9 5 918 &1 16% Ufd a8 it sx 4
YIRS &
(A) ¥.133.33
(B) ¥.133.26
(C) %.134.00
(D) %.132.09

3 a+b b b+c ¢ \cta
x_ x_ X | wHgmg
xP x° x2

(A) O

(B) 1

(C) abc
(D) a2b2c?

Tsh H&A1 %1 14 0N 38k Uk fowTs § 24
3ferh 2 | T @

(A) 8
B) 9
(C) 12
(D) 15

T deft T 1 FYC, 50 99 37 10 T8 F i
FETHE. 187 AV 3: 4 : 5% I |
® | Ul YRR o Toaehl &1 Het He: &

(A) 102, 136, 170
(B) 136, 102, 170
(C) 170,102, 136

(D) 398 & whIg AL

45.

46.

47.

48.

49.

IfE tand + seco = a 3 secO —tand =b

a3 b = day
(A) %:1 (B) ab=1
(C) a®+b2=1 (D) a2-b2=1

afe T THTAL Avft 1 gE 9 4.9 10 &
9208, 159 e B

(A) 28

(B) 32

(C) 30

(D) T & 1S e

38 syt 1 aee foraht sy i Ay
14810, 48§ 4 st 50§41 R

(A) 672812 (B) 336E.H1.2

(C) 350€.#.2 (D) 700 #.Ht.2

afe g (k, 3), g (2, k) & V6 sFE w2 |
A KFHA R

(A) 1

(B) 4

(C) 134

(D) 39 9 I3 A&

T safaq 6 fedl 3t 4 2 fafasH
%. 18,480 ® s=ar ® | AfY 14 e ok
f s em AR sk g, A=
fAfeaem =1 g @

(A) %. 1,848

(B) %. 840

(C) %.1,680

(D) %. 3,360
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50.

51.

52.

23.

54.
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The ages of two persons are in ratio
5:7. 18 years ago their ages were in
the ratio 8 : 13, their present ages (in
years) are

(A) 50,70
(B) 70, 50
(C) 40, 56
(D) 35, 49

If the product of two numbers is 216 and
their LCM is 36. Their HCF is

(A) 8 (B) 7
(C) 6 (D) 9

The angle covered by the minutes hand
in 12 minutes is

(A) 60°
(C) 72°

(B) 108°
(D) 100°

The smallest number which when
divided by 16, 20 and 40 leaves the
same remainder 4 is

(A) 124
(B) 84
(C) 164
(D) 80

IfA:B=2:5then
(10A +3B) : (5A + 2B) =
(A) 4:7

B) 7:4

(C) 3:7

(D) 23

95.

56.

S7.

58.

59.

60.
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A cuboid has its length, breadth
and height as 5 cm, 3 cm and 2 cm
respectively. Its volume in cubic cm is
(A) 27 (B) 30

(C) 33 (D) 36

The 3 numbers in Arithmetic Progression
(AP) whose sum is 18 and product is
210 are

(A) 5,6,7 (B) 4,5,6

(C) 3,45 (D) 2,4,6

23.33 -

(A) 612 (B) 216

(C) 218 (D) 126

The wheel of a motor car makes
800 revolutions in covering 880 m. The
diameter of the wheel is

(A) 0.35m

(B) 0.175m

(C) 0.70 m

(D) none of these

If 2X — 2X=1 = 4 then 3% =

(A) 7 (B) 3

(C) 27 (D) 9

The point of intersection of the lines

2x—5y=6andx+y=3is
(A) (0.3) (B) (3,0)
(C) (3,3) (D) (0,0)



50.

51.

92.

53.

54.
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&l Afaaat g H AUE 5: 7§ |

18 99 Y 371 31TY 8 : 13 % uTa H o,

FAHH 1Y & (a1 H)

(A) 50,70

(B) 70,50

(C) 40,56
)

(D) 35, 49

afe 3t TS I UHE 216 N ITH
Y 36 ®, 1 I 7EY &

(A) 8 (B) 7
(C) 6 (D) 9

12 fime ° fime Y g8 gm0 @ e w1
AT 10T B

(A) 60°
(C) 72°

(B) 108°
(D) 100°

T8 DI W B &1 S 16, 20 3R 40 Y
T feU T o o9 9y 4 3t R

(A) 124
(B) 84
(C) 164
(D) 80
ACA:B=2:5d
(10A +3B) : (5A + 2B) =
(A) 4:7

(B) 7:4
(C) 3:7
D) 7:3

95.

56.

57

58.

59,

60.
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afe gy i e, werd it g 5. 9.,
3., 3R 2 F 1Y, FhHT: B | 3EHI I
T gt 42
(A) 27
(C) 33

(B) 30
(D) 36

T Hoft 3 g fSeht I 18 3
TUH%S 210 B

(A) 5,6,7 (B) 4,5,6

(C) 8,4,5 (D) 2,4,6
23.33 -

(A) 612 (B) 216

(C) 218 (D) 126

880 M. T F H Uk HIEL FN F Uy
800 HUiH T Fd & | Ifee ol = 2

(A) 0.35H4i.

(B) 0.175Hl.

(C) 0.70HI.

(D) T ® s &I

i ox —2x=1 =471 3% =

(A) 7 (B) 3

(C) 27 (D) 9

W@t 2x — 5y = 6 M x + y = 3

yfoeser fog @
(A) (0,3) (B) (3,0)
(C) 3,3) (D) (0,0)
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

et v sl |

THTC IFET TS AT 91 @ 7 66. TUIT % ST T G 3 fray Fe A & 7
(A) a:Ra‘Ith'rtGﬁ A) d
(B) ? o=
(C)
(D) 38 @ HIS e 6} 7 '

, (D) ¥ | =hIg TE
ST 765 TR 371 AT 9T § forehd e
et d 3@ B, 3= FEd & | 67. ‘wrereh 93 for@ar @ | 3@ are i wiesra
(A) deHa (B) dcad el H FEfeT |
(C) <t (D) fecerst (A) wTer o foram |
31 YTeat, AT AT AR T S (B) =ersh = v forat |
ﬁ,ailﬁrﬁw@r 3T Fed (C) Tere uF for@ @i R |
o (D) il & = T
(A) T SIUH T
(B) Frernf gus s 68. foRdT a1 oo v1eg B
(C) Y Ysh HAY (A) F9
T+ 33 = T, Y =1 IeTe (C) A
AE 0) A T
(A) ToTEf .
B) I ER 69. TAH W HAHT Yree YRHTU ek gyt
(©) =y ST & ¢
(D) wfE =Y (A) HIeT =T8T
1 e 1 fovfad geoa @ ®) Wﬂaﬁ
(A) = B) @ (C) q IR
) 3 (D) # (D) SHRE! @St
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72,

73.

74.
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5 v1e @ foreft v & A T B T A
BRI FEd R |

(A) formm
(B) =g
(C) @
(D) ¥ & I 7

5 wsal % widfw @ 79 B ?, 3=
Fad @ |

75.

76.

77.

78.

79.

80.
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FqaTed ! FHATI B FGTeTT —
“Hied g Tedi © |

(A) HIE g g&ieh 91 Sl & |
(B) e sl Jieh a1 =TT |
(C) WYe | Y&ash Ul e ST |
(D) ¥ & s A

‘FATH IF Yedr g e fohd =g ° T
27

(A) wHgar=d

(B) HHaTH

(C) sTEaT=

(D) 9§ ¥ 1S TE

I & TR 9T I1ea] o arfiertor fehe
ThR 8 ?
(A) =1
(C) u=

(B) I
(D) =

&I T o fohad WS & 7

(A) (B)

(C) =R (D) ¥ & i3 T
TREATENE TR YEREH
BATR |

(A) =

(B) dH

(C) =X

(D) T & I A

frasrsd @ @M e ?
(A) Fal FF

(B) 3iferetor R

(C) w4 FH

(D) T FH
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v) English Language and Comprehension
JrSh e 3R Y

Fill in the blanks in the following sentences
using the appropriate antonyms of the words
underlined.

81. Virtue is the opposite of
(A) Chastity
(B) Merit
(C) Morality
(D) Vice

82. Though he has a secure job, he feels
at times.

(A) insecure
(C) securely

(B) unsecure
(D) imsecure

83. The arrival and timings of the
train was mentioned on the notice
board.

(A) Entry

(B) Reaching
(C) Departure
(D) None of these

Add suitable question tag to the following
statements from among the choices given
below.

84. Rima cares for the elderly, ?
(A) isn'tit (B) does she
(C) will she (D) doesn’t she

85. You would scarcely expect a holiday,
?

(A) wouldn’t you
(B) will you

(C) would you

(D) haven't you

-18-

Fill in the blanks in the following sentences
using the appropriate forms of the words
given in brackets from among the choices
given below them.

86. (expect) is always better than
fulfillment.

(A) Expectation
(B) Expectability
(C) Expectant
(D) Expect

87. She was asked to write a job
(apply)
(A) applicable
(B) apply
(C) application
(D) applicant

Fill in the blanks with appropriate prepositions
from among the choices given below.

88. He was the first the boys to
win a prize.
(A) between
(B) among
(C) across
(D) through
89. A small pouch was sewn his
jacket.
(A) into (B) onto
(C) to (D) with
90. ['ll meet you the airport.
(A) on (B) in
(C) off (D) at



ik
Choose the wrongly spelt word from the
following choices.

91. (A) CONTRIBUTION
(B) GENEROSITY
(C) PARANOIA
(D) TRASITARY

92. (A)
(B)
(C)
(D)

INTRICATE
CONSEQUENSE
AILMENT
HAZARDOUS

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

93. The essay calls for a great deal of
introspection.
(A) Criticism
(B) Appreciation
(C) Admiration
(D) Self-examination

94. The soldiers plundered the beautiful

country.
(A) Appreciate (B) Admired
(C) Looted (D) Visited

95. The minister came with his escort.
(A) friend
(B) bodyguard
(C) family
(D) courtiers

-19-
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Fill in the blanks with suitable articles from
among the choices given below.

seat on the bus ?
(B) an
(D) on

96. Can | get
(A) the
(C) a

97. We had lunch at
restaurant.

(A) a
(B) the
(C) an
(D)

newly opened

none of these

98. ox is required to till this field.
(A) A
(B) An

(C) The

(D) None of these

Choose one word substitute for the following
from among the choices given below.

99. Assuring that something will definitely
be done

(A) Decision
(B) Seize

(C) Obsession
(D) Promise

100. Examination of one’s own thoughts
(A) Retrospection

(B) Inspiration

(C) Destination

(D) Introspection



101.

102.

103.

104.

105.
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SECTION - B
Post Specific Subject - Related Questions

Process of heating two or more materials
(usually metals) to a melting point where
they can coalesce is called

(A) welding

(B) soldering

(C) cutting

(D) none of the above

A third metal used in the welding is
(A) Fuller

(B) Filler
(C) Filter
(D) None of these

is a weld made in the groove
between two members to be joined as
a joint.
(A) Bead weld
(B) Butt weld
(C) Fillet weld
(D) None of these

The formation of oxides and nitrides due
to the contact of atmospheric air with the
molten metal is also called as

(A) Condensation
(B) Concentration
(C) Contamination
(D) None of these

is the ability of the metal to
stretch, bend or twist without breaking
or cracking or to draw into fine wires.

(A) Tactile strength
(B) Toughness
(C) Hardness

(D) Ductility

106.

107.

108.

109.

110.

With amount of current(l), resistance(R)
and time of current flow(T), formula for
converting electrical energy to heat
energy(H) is
(A) H=IRT
(C) H=IR

(B) H=I°RT
(D) H=V/R

Metal inert gas arc welding is also called
as

(A) TIG

(B) GMAW

(C) MMAW

(D) None of these

is produced when the ratio
of oxygen to acetylene, in the mixture
leaving the torch, is almost exactly
one-to-one.

(A) Neutral flame
(B) Oxidizing flame
(C) Reducing flame
(D) None of these

In a metal inert gas welding, if the gas
is replaced by CO,, then it is called

(A) metal active carbon arc welding
(B) metal active gas arc welding
(C) submerged arc welding

(D) electro-slag welding

After switching on the welding machine,
when there is no arc created/struck
between the electrode tip and the base
metal then the voltage “V” shown by the
voltmeter in the circuit is called

(A) Closed circuit voltage

(B) Open circuit voltage

(C) Arc voltage

(D) None of these
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(C) a4
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(A) StEace

(B) e dce
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(D)

(A) &7
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106.

107.

108.

109.

110.

A (1), gfety (R) i farga vare
Er?wm%mwﬁga I T3 (H)
¥ S 1 gF 8
(A) H=IRT

(C) H=IR

(B) H=I2RT
(D) H=V/R

YTq 3eTHA T =19 e
+ff e § |

(A) TIG

(B) GMAW

(C) MMAW

(D) 37H | IS &

e IcATIId el & ST SAeref o
8 THifeefi= 1 3ygura fagor § ofE =i sied
TSI 1:1 BT 2 |

(A) 3THH SaTel
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(C) I=FA SaTeAT

(D) TH & I3 &

Tk T I&TEfH 18 e 5 3fe | i COo,,
jﬁfﬁ?ﬁawﬁmmaﬁsﬁ

(A) 1] |fsF e 919 e
(B) g sk 1| 919 e
(C) Tewst =9 oM

(D) fergga =t FTe
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(B) Ga uftuy dieds

(C) =T drees

(D) 3 | IS T




111.

112.

113.

114,

115.

116.

Lo9s

In i the electrodeis conné,cted
to the positive and the work to the
negative terminal of the power source.

(A) Straight polarity
(B) Electrode negative
(C) Reverse polarity
(D) None of these

Which of the following is not a type of
Electric arc welding electrodes ?

(A) Carbon electrodes

(B) Bare electrodes

(C) Flux coated electrodes
(D) Gas electrodes

The ratio of electrode diameter to the
core wire diameter is called

(A) Coating factor
(B) Casting factor
(C) Electrode factor
(D) None of these

The basic requirements for any arc welding
power source are high amperages for
welding and relatively low voltage. The
first commercially made available welding
power source is the

(A) welding turbine

(B) welding transformer
(C) welding arc

(D) none of these

Which of the following is not a standard
for electrode coding ?

(A) BEAMA (B) ASTM

(C) IS (D) ISl
What is the chemical symbol of Acetylene ?
(A) CO, (B) CH

(C) CyH, (D) H,O

§ Jf 7

118.

s,

120.

121.

The color of acetylene é:ylinder in
oxyacetylenewelding is

(A) Black (B) Red
(C) Blue (D) Maroon

are used to control and mix the
oxygen and acetylene gases to the
required proportion.
(A) Hose protector
(B) Blowpipe
(C) Mixing chamber
(D) None of these

In hosepipes, oxygen connection is
and acetylene connection

is

(A) Right hand threaded, left hand
threaded

(B) Right hand threaded, right hand
threaded

(C) Left hand threaded, left hand

threaded

Left hand threaded, right hand
threaded

(D)

Ferrous type filler rods contain

(A) zinc, lead, nickel, manganese,
silicon

iron, carbon, silicon, sulphur and
phosphorous

manganese, nickel, chromium,
molybdenum

copper, aluminium

(B)
(C)

(D)

The iron oxide in molten condition is
also called

(A) Flag
(B) Slag
(C) Rust
(D) None of these
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111,

2.

113.

114,

115.

116.
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T I YIRS 3 i A
FS1 G % RUMCHF SR Y ST 141 2

AT I ¥ IS G- A9 FH A
FEATAT & |

(A) TSR TUTT

(B) BT T

(C) AT T[UITeh

(D) 378 & S el

T =19 ST 311 A1 o Jerd STavIehaTy
3= 3R Iemehd A Al B |

el SISk ®Y ¥ IqcAsY T Hell
a8

(A) W‘&Hﬁq

(B) =T ®9TALOT

(C) AT =g

(D) T8 & =18 e

e & @ e s
¥q U HHF e 8 ?

(A) BEAMA (B) ASTM

(C) IS (D) IS

wHifeefR 1 TaRfE g R e ?
(A) CO, (B) CH
(C) CoH, (D) H,O

117.

118.

119.

120.

121.
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e 3o # uHifee fasiet
FTR

(A) =T (B) T

(C) e (D) w&A

_ oifed ¥ ATt 3
wHifeefa i = IR fFEtaFEE ®
fore s & R

(A) B Fidaet

(B) soATaTEd

(C) Tz =peg

(D) 378 | s &t
BrEuTey §, TSt e

2 iR wHifeef FawH 2|

(A) T8 BT T TR FHHT 3T, 1T T 1
I 41 g3l

(B) 3Td w1l Y 7R sha g, a1 71
HIT T g3

(C) =T¢ g1l 3 AR HET §HAT, FTU &
HITHHT g

(D) TE BT 3T TR FHAT §AT, a0 &1 i
I T gAT

devEnH feerwesd @R |

(A) s, dta, fyepe, #i, fafeerta

(B) aﬁmmﬁqﬁ%mwmaﬂt
BERE

(C) #rS, frere, shiftrm, mifafesaw

(D) e, Gt

fraeft oraxen ¥ A ATFATIE *i
FEd § |

(A) T
(B) AT
(C) S
(D) T8 & i3 &
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1283.

124.

1285:

126.

127:
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The width of material that is removed
by a cutting process

(A) Slag (B) Kerf
(C) Nozzle (D) None of these

is a joint formed by joining two
pieces of metal edge to edge.

(A) Lap joint (B) Butt joint
(C) Tee joint (D) Corner joint

A joining process that is used to combine
dissimilar metals at temperatures lower
than welding is called

(A) Cutting
(B) Brazing
(C) Welding
(D) None of these

A reusable mold that holds heated liquid
metal and imparts its shape as the metal
cools

(A) Mould
(C) Flux

(B) Die
(D) None of these

delivers a pure DC output
having no ripple content which produces
the most stable welding arcs.

(A) Welding rectifier
(B) Welding transformer
(C) Welding inverter
(D) Welding generator

is the development of
additional pressure over time creating
excess pressure in the regulator and
hoses.

(A) Kerf

(B) Slag

(C) Creep

(D) None of these

128.

129.

130.

131.

132.

133.

MKG-XXVI/TECHCIWGE/1T/06

is an action of carbon dust
formed by incomplete combustion.

(A) Smoothing
(B) Sooting

(C) Soothing

(D) None of these

Representation fraction of an object is
a ratio of

(A) Plain scale to diagonal scale
(B) Actual size to drawing size
(C) Drawing size to actual size
(D) None of the above

The distance between two towns is 250 km
and is represented by a line of length
50 mm on a map. Obtain the length of
the scale with respect to representation
fraction.

(A) 250 mm

(C) 50 mm

(B) 600 mm
(D) 120 mm

In aligned system the dimensions are

(A) Placed parallel to the dimension

line

Placed perpendicular to the

dimension line

Placed left side of the dimension

line

(D) Placed right side of the dimension
line

(B)

(C)

In 15t angle projection the object is kept
in

(A) 3" quadrant

(B) 2nd quadrant

(C) 18t quadrant

(D) 4" quadrant

The angle between the isometric axes

is degrees.
(A) 180 (B) 60
(C) 90 (D) 120
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YUl T8 T ST HeA g

Fi e |
(A) Hfem
(B) Ffem
(C) gfem
(D) 3§ & s T

Teh o o1 S fershr forey
T I 2 |
(A) |TaRoT 99T A forepofi A

(B) ITEAfIeh THR A RGN ATHR
(C) IR@YT ATHR A TR THR
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(A) 250 mm
(C) 50 mm

(B) 600 mm
(D) 120 mm

T ifaa yorredt |, fammd 8
(A) fammaEr & gaEiR
(B) fawmw@n & weaq
(C) fommta & and

(D) femman & and

TYH HIT FEIO § T H L]
@ SR |

(A) Fer =gats

(B) facfrar wrgerf

(C) weorm =rgartst

(D) =ge =gatw

i g s fawm _ fRfi
(A) 180 (B) 60
(C) 90 (D) 120
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If an isometric projection is drawn with
true measurements but not with isometric
scale then the drawings are called

(A) Isometric projection
(B) Isometric view

(C) lIsometric perception
(D) Orthographic view

Pairs of parallel lines in regular pentagon
are

(A) O (B) 1
(C) 2 (D) 5
represents an Archimedean
spiral.
(A) Tornado
(B) Cyclone

(C) Mosquito coll

(D) Fibonacci series

A scale which is numerically represented
on the drawing sheet is called as

(A) Graphical scale

(B) Engineer’s scale

(C) Reducing scale

(D) Full size scale

When the circle rolls along another circle
inside it, the curve is called a

(A) Epicycloid

(B) Cycloid

(C) Trochoid

(D) Hypocycloid

The straight lines which are drawn from
various points on the contour of an
object to meet a plane are called as

(A) connecting lines
(B) projectors

(C) perpendicular lines
(D) hidden lines

140.
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When a pyramid or a cone is cut by a

plane parallel to its base, thus removing
the top portion, the remaining portion is
called

(A) prism
(C) frustum

(B) cylinder
(D) polyhedron

Longitudinal stress produced due to
increase in length of a body under a
deforming force is called

(A) Tensile stress

(B) Compressive stress
(C) Bulk stress

(D) None of the above

A cylindrical bar of length 0.2 m
deforms to 2 mm. What will be the strain
developed in the bar ?

(A) 1 (B) 0.1
(C) 0.01 (D) 0.001

When a load of 5 kg is attached to the
free end of a suspended wire of length
4 m and diameter 2 mm, the elongation
produced is 0.5 mm. Calculate the
Young’'s modulus of the material of
wire.

(A) 1.248 x 108 N/m?
(B) 1.248 x 108 N/m?
(C) 1.248 x 10° N/m?
(D) 1.248 x 10" N/m?

Product of breaking stress and area of
cross-section is called

(A) Breaking strain
(B) Breaking weiaht
(C) Breaking point
(D) Permanent deformation
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The property by virtue of which material
bodies regain their original dimensions
after removal of deforming force is
called

(A) Plasticity
(B) Elasticity
(C) Ductility
(D) Restoring force

Which of the following is also called as
American Engineering System ?

(A) mks (B) fps
(C) cgs (D) none of these

Gram, Centimeter and Second are

measuring units in system.
(A) mks

(B) fps

(C) cgs

(D) none of these

1 yard is equivalentof ____feet.
(A) 1 (B) 2

(C) 3 (D) 4
Convert m'= 1500 g to Ib..

(A) 3.307 (B) 1.524
(C) 2.987 (D) 3.852

Consider the following list of test scores:
{87, 56, 69, 87, 93, 82}. |dentify the
mean of this series.

(A) 474 (B) 47

(C) 74 (D) 79

Find the amount of simple interest on a
3,800 Rupees loan at an annual rate of
5.5% for 5 years.

(A) 380
(C) 1,045

(B) 760
(D) 1,900

152.
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Multiply two complex numbers (a+ib)
and (c+id) and predict the answer.

(A) ac + ibc + aid + ibd
(B) ac—bd + (ad + be)i
(C) ac—Dbd

(D) none of these

Give the answer of the following
equation

4(18-{-8}+2°)+6-9 _

2(9% - 82)
(A) 18/8 (B) 95/17
(C) 17/95 (D) 81/9
Convert 0.625 to a fraction.
(A) 8/5 (B) 1/625
(C) 6/25 (D) 5/8
How many 1/6! are present in yz ?
(A) 1 (B) 2
(C) 3 (D) 6
Convert 3-2— to improper fraction.
(A) 517 (B) 17/5
(C) 6/5 (D) 2/15
What is 10.11, in Decimal ?
(A) 10.2 (B) 2.3
(C) 2.75 (D) 10.11

A number is represented as 4B5 in
hexadecimal. Its decimal equivalent is

(A) 405 (B) 495
(C) 1205 (D) 825

Which of the following are not
Pythagorean Triples ?

(A) 3,45

(B) 10,11,12
(C) 5,12,13
(D) 8,15,17



b
145.

146.

147.

148.

149.

150.

151.

-29-

e farrwan foress sror vard s foeau
oA % 2T A & 18 79 ot fammadt =t
ITo o Al B

(A) wATTEEHaT

(B) Sraviierar

(C) d=ra

(D) gAwifet =it

fafafaa o 9 fore smfea shfaafom
JurTeAT it shed & 7

(A) mks (B) fps

(C) cgs (D) 44 ¥ I3 Tl
o W19 $HTEAT € |

(A) mks

(B) fps

(C) cgs

(D) ¥4 ¥ IS &

1918 hIe % TAIA T |
(A) 1 (B) 2

(C) 3 (D) 4

m'= 1500 g %! Ib,,, & giafda # |
(A) 3.307 (B) 1.524
(C) 2.987 (D) 3.852

feferfiaa wdieror 3t : {87, 56, 69, 87,
93, 82} T fo=am & | 30 @l 1 7
FTd |

(A) 474 (B) 47

(C) 74 (D) 79

T 3,800 ¥U & /T G 5.5% Hfday =i
W 5 INT &1 IR SATS 71 L |

(A) 380 (B) 760

(C) 1,045 (D) 1,900

152.

153.

154.

155.

156.

157.

158.

159.

MKG-XXVI/TECHCIWGE/1T/06

3l STfee ST (a+ib) 3T (c+id) 1 oM
i 3 IT FqU |

(A) ac + ibc + aid + ibd

(B) ac—bd + (ad + be)i

(C) ac — bd

(D) 37 | IS AL

Frefefaa g s 3w s |

4(18—{-8}+2°)+6-9 _
2(9° - 82)

(A) 18/8 (B) 95/17

(C) 17/95 (D) 81/9

0.625 ! T fi=1 | srafequ |

(A) 8/5 (B) 1/625

(C) 6/25 (D) 5/8

1, % foram 1/6 e & 7

(A) 1 (B) 2

(C) 3 (D) 6

agﬁwﬁr—rﬁml

(A) 5117 (B) 17/5

(C) 6/5 (D) 2/15

qYHE H 10.11, F1 8 7

(A) 10.2 (B) 2.3

(C) 2.75 (D) 10.11

T G&A1 %1 4B5 o &9 H TSIHerd g9
ST 2 | 3991 SYT9ed 99y o

(A) 405 (B) 495

(C) 1205 (D) 825
frefafea # @ #9-2 srame Sags
TR 7

(A) 3,45

(B) 10,11,12

(C) 512,13

(D) 8,15,17




B

160.

161.

162.

163.

164.

What is the geometric mean of 2 and
18 ?
(A) 9
(C) 18

The mass of the earth is 6 x 10%* kg
and that of the moon is 7.4 x 1022 kg.
If the distance between the earth and
the moon is 3.84 x 10° km, calculate the
force exerted by the earth on the moon.
G=6.7x10"1" Nm2kg—2.

(A) 2.01x10'0N

(B) 2.01 x107'ON

(C) 2.01 x 100N

(D) 2.01 x 102N

Force(F) between two objects is
proportional to the product of their
masses and inversely proportional to
the square of the distance(d) between
them. Then, if d gets bigger by a factor
of 6, F becomes

(A) 1/6 times bigger

(B) 1/6 times smaller
(C) 1/36 times bigger
(D) 1/36 times smaller

Mass of an object is 10 kg. What is its
weight on the earth ?

(A) 10N (B) 100 N
(C) 9.8N (D) 98N

Relative density of silver is 10.8. The
density of water is 103 kg m™3. What is
the density of silver in Sl unit ?

(A) 10.8 kgm™3

(B) 10.8 x 108 kgm™3
(C) 10.8x103kgm=3
(D) 10.8 x 103 kg m3

165.
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170.
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Nicola measures the length of her
textbook as 20cm. If the length is
actually 17.6 cm, what is the percentage
error in Nicola’s calculation ?

(A) 17.6% (B) 20%
(C) 13.64% (D) 12%

Metals which are very reactive with low
melting points and soft are called

(A) Noble metals
(B) Alkali metals
(C) Transition metals
(D) None of these

Metals react with oxygen to produce
(A) Basic oxides

(B) Acidic oxides

(C) Dilute acids

(D) Hydrides

Which of the following is not one of the
compositions of Duralumin ?

(A) Aluminum
(B) Copper
(C) Zinc

(D) Manganese

Bronze is an alloy of
(A) Copper and lead
(B) Copper and nickel
(C) Copper and zinc
(D) Copper and tin

Which of the following is the purest form
of iron ?

(A) Wrought iron
(B) Castiron
(C) Pigiron
(D) All the above
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What must be the side of an equilateral
triangle so that its area may be equal
to the area of an isosceles triangle with
the base and equal sides as 12 m and
10 m respectively ?

(A) 9m (B) 10m

(C) 10.5m (D) 11.5m

A fence is to be drawn around a circular
ground of radius 7m. What will be the
total expenditure in Rs., if the cost of
fencing it is Rs. 120/m ?

(A) 1,200 (B) 840
(C) 5,280 (D) 308

Convert 26° Celsius (a nice warm day)
to Fahrenheit.

(A) 37°F
(C) 98.6°F

(B) 78.8°F
(D) 98.8°F

is the transfer of heat by the
movement of the heated particles
themselves.

(A) Conduction
(B) Convection
(C) Radiation
(D) None of these

The change of state from liquid to solid
is called

(A) Melting
(C) Fusion

(B) Boiling
(D) Regelation

Acetylene gas is produced by feeding
solid into water.

(A) Calcium oxide

(B) Calcium dioxide

(C) Calcium bicarbonate
(D) Calcium carbide

177.
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180.

181.
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The properties of the gas contained
in cylinders can be determined by the
colour of the identification label. If the
cylinder contains red and white color,
then the gas presentin it is

(A) Oxidising

(B) Inert

(C) Poisonous

(D) None of these

When steel is exposed to the air at
room temperature and moisture is

present a film of will form on
the surface.

(A) Nitrogen (B) Oxide

(C) Acetylene (D) Iron

If the welding speed and feed of the
electrode is controlled by the welder
himself, then the process is called

(A) SMAW

(B) MMAW

(C) GMAW

(D) None of these

A cutting blowpipe has control
valves to control the preheating flame
and lever type control valve to
control the high pressure pure oxygen
for making the cut.

(A) Two, one
(C) One, one

(B) Two, two
(D) One, three

Small metal particles which are thrown
out of the arc during welding along the
weld and adhering to the base metal
surface.

(A) Slag
(C) Edge

(B) Spatter
(D) Crack
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In GTAW process, the arc is formed
between the electrodes.

(A) Iron

(B) Copper
(C) Tungsten
(D) Oxygen

Which of the following pencils has the

softer lead than the other options ?
(A) B (B) 2B
(C) 4B (D) 6B

In Engineering drawing, hidden object
outlines are shown by

(A) Construction lines
(B) Hatching lines
(C) Break lines

(D) Dashed lines

In orthographic projections, the
are perpendicular to the of
projection.

(A) Profile plane, plane
(B) Horizontal plane, top
(C) Projector, plane
(D) None of these

The'principle involved in arriving at
drawing sheet size is given by the
relations and

(A) xiy=1:2, xy=1
(B) xy=1:3, xy=2
(C) xiy=1:2, xy=2
(D) x:y=1:4/2, xy=1

The EMF induced in a conductor is
measured by

(A) Ohm
(C) Volt

(B) Watt
(D) Ampere

188.

189.
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191.

192,
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The value of resistance is measured
by

(A) Wattmeter

(B) Ohmmeter

(C) Voltmeter

(D) Currentmeter

Which of the following materials is a
good semiconductor ?

(A) Copper
(B) Mica

(C) Porcelin
(D) Germanium

According to Ohm'’s law, current flowing
in a circuit is inversely proportional to

(A) Voltage
(B) Power
(C) Resistance
(D) All the above

Alternating current is generated by
rotating a coil in

(A) Electric field
(B) Magnetic field
(C) Inductive field
(D) None of the above

The resistance of a lamp is 10 Ohms and
current through it is 2A. Its power is

(A) 10W
(B) 20W
(C) 30W
(D) 40W
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In a factory, the following appliances are
in operation : 2HP motor 3 hours daily,
100W lamp 12 hours daily and 1000W
heater 3 hours daily. Total amount of
energy consumed in a month of 30 days
is

(A) 134.28 kWh
(B) 36 kWh
(C) 90 kWh
(D) 260.28 kWh

The curve traced by a point on a straight
line, when it rolls without slipping along a
circle or a polygon is called

(A) Cycloid

(B) Epi cycloid
(C) Hypo-polygon
(D) Involute

A polyhedron having two equal ends
called the bases parallel to each other
which are joined by rectangular faces is

(A) Pyramid

(B) Prism

(C) Tetrahedron
(D) None of these

Which of the following is not an internal
weld defect ?

(A) Crack
(B) Blow hole
(C) Porosity
(D) Spatter
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200.
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Sometimes during backfire, the flame
goes off and the burning acetylene
gas travels backward in the blowpipe,
towards the regulator or cylinders. This
is known as

(A) Backfire

(B) Flashback
(C) Backtrack
(D) None of these

is the most widely used
oxy-acetylene gas welding technique
in which the welding commences at the
right hand edge of the welding job and
proceeds towards the left.

(A) Rightward welding technique
(B) Backhand technique

(C) Forehand technique

(D) All the above

A process of joining metals in which,
during or after heating, molten filler
metal is drawn by capillary action into
the space between closely adjacent
surfaces of the parts to be joined

(A) Copper brazing
(B) Silver brazing
(C) Zinc brazing
(D) Steel brazing

Galvanised iron consists of mild steel,
coated with

(A) Copper
(B) Tin
(C) Lead
(D) Zinc
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(A) 134.28 kWh

(B) 36 kWh

(C) 90 kWh

(D) 260.28 kWh

T Hiefi W u forg g 99 W
aggaasw Ty fomT e gomt & et
HEAT! 2 |

(A) EET

(B) At (Tfd argaenas)

(C) TGS

(D) Sfew (Fage)
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(A) SFHRR
(B) TATTSE
(C) wehih
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et et - Tt T gre dehdleh %
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(A) =fe AT qeten
(B) Shee AHAIH

(C) HRES dehTh

(D) 35a aft
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A o I A1 a1e | foereft fher erg Sire
ST a7t W o fHeheeer ST 731 & sftel
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(A) FTR sfem
(B) Toear sifsm
(€) fore sifsm
(D) & sifsmr
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YA EAE |

(A) s
B) fea
(C) Hran
(D) SrET
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14. Directions

15.
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18.

19.
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iaigal o foTe Agwagut st

13. This booklet contains 40 pages.

. Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method || Wrong Method || Correct Methos

O®00OI0O00|IC®@0O0|I0e00O

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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16.
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19.
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3eff W YT IR AHYES = =R & IT=
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T Y HI hadl Th & Hal It & | AT
qufea e 379fq A, B, C a1 D % MR @H
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afe feredt ww= & fe=t qen 3iwsh AR § #18
FHR 2 1 FUS IS R E GE qEIH AR

Ted HE % U had 99 99 § feu 7 T &
TN L | I I T FHedl B A H

TH YTt & 31X 3NTeh! ITR 3ifeh T8 & ¢ |
I FaA IT AN A A 3l

Go through instructions given in Page No. 1 (Facing Page)




